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Mr. Schlansky Algebra I1

Remainder Theorem

Find the remainder when p(x) is divided by g(x)

1. p(x) x -9x% +21x-5 3 p(x) =x* —8x% +3x
g x) =X- 5 g(x) x+4

3. plxy=x =257 +65-2 4. p(x)=x -5x -5x+25
g(x)=x-3 : g(x)=x+2
P3)=(3)%-263) Hbi3 02)-QY- S-SR s

5. p(x)=x +3x" =45 =25 $2=3 6. p(x) =-2x" 3%’ +9x-10
g(x)=x+9 g(x)=x+8

PN = () >3 _q\ -4(-9) ") H4)-3 ﬁ )“?%x) 5‘3)“‘% )-10

7. What is the remainder when the following polynomial is divided by:
a) x—1 b) x+2 c) x-3 d) = y
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8. What is the remainder when the following polynomial is divided by:
a) x—-3 b) x+2 c) x-5 d) x-1 e) x Vix)

B A=  ps=0 <0 M =t

9. The graph of p(x) is shown below.

What is the remainder when p(x) is divided by x+47?
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Find the remainder when the following polynomials are divided

10, * P It 8x+2 1L 3x* -5x* -2x-6
x+8 . ,
-0 50 pl-g)=3eLsler -
3= 33 pl=¥ > 14$s5%
1y, TX+4x -2x+7 13, 2% =6 +5x-1
x-=5 x+2
(V) -USH - 3
pls)= (5] M= )t p(d) DE) S BY -

A= - ¢
IR pll)= -3



